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����� �{ ���� ������ |��� ��� �
���|� ���|�� ������ |��� {�� ��{��� ~�� ������
���{��� {� {�� ���� �(0000) �{ ���� ���{ ��{�| ~��� ���{�

��� Z8
2�| ~��� Z2

2 �{ ~~��� �� ��{�

(00) !→ (00000000) (01) !→ (01010101)

(10) !→ (10101010) (11) !→ (11111111)

����� ~�� {��� ��� }��� ~�� ������ �� �� ����� �|�{ ����� �����

�~��� �� d �������� ����� �{ �{�� �{

�� H ������� ���}��� ���~| ������ �{� G ������ ������ ������� �{ �{�� �|
���{��� ~�� ���| �� ��� ���~�� ��{� �~�� �{~� �~���

������� ������ ��� ���~}�� ���� ���{��� ��� ~�~���� |� ���� ���{� ������

(ab) !→ (abababab)

����{��� ����� ��{ {��� �a, b ∈ Z2 ���
(4
2

)
= 6 �� ��� ���� �~��� �� �������� ����� {�� �� ��~}� ��� ��~|� ���{ �{

���� �{� ���{��� ~��| �|�~�� |� ���� {�� ������� ���� ��� ��~ ����~|� ��}��
���� �� �������� }���� ���� ������ 4−1 = 3 �� }���� ���� |����| ������

�d = 4 ���� �4 {�� ��{� ����� ���{� ~��

����� �( 1 0
0 1 ) �~���� ������ �{ 
�����||� ����� ��� �|��� ���| �|

G =





1 0

0 1

1 0

0 1

1 0

0 1

1 0

0 1





H =





1 0 1 0 0 0 0 0

0 1 0 1 0 0 0 0

1 0 0 0 1 0 0 0

0 1 0 0 0 1 0 0

1 0 0 0 0 0 1 0

0 1 0 0 0 0 0 1




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������� {�� A ������� ��{��� ~�� �� ��~}�|� ����� ����� ���� ���{|
������ ����{ �ϕ ������ �������� ����� �� �}�����

ϕ



a

b



 =





a

b

a

b

a

b




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A =



ϕ



1

0



 ϕ



0

1







 =





1 0

0 1

1 0

0 1

1 0

0 1





�H�� G �������� �� ���{�� ��~}�| ���{ ��|����

���{��| �d1, d2 ��������� ������ �� ��~�� ��� C1, C2 ⊆ Zn
2 ���� �� ��{�

�d2 < d1 �|{ �|C1| = |C2| �|� ��}�~ �{�� �{

�d2 ≤ d1 �{ �C1 ⊆ C2 �{� ������ �|

������

���� |����| ��~|� �� �C2 = {(0000), (0100)}�� C1 = {(0000), (1111)} ��|� �{
�����{��� ��~�� ����| ����{� �d2 = 1 < 4 = d1 ��

���|�� C1 ⊆ C2�� ������ �d(u, v) = d1�� �� u, v ∈ C1 ������ ���~}�� ��� �|
�d2 ≤ d(u, v) = d1 ���|�� ~��|� d(u, v) ≥ d2 ��� �u, v ∈ C2 ��

}�� ��� ��~�~| �������| ����� �{ ����| ����~� ����� �����| ����������
��� ���� ����| �B ≤ A �{ �A ⊆ B �{� ������ A,B ����|� �� ����|�

����|�

A = {d(u, v) |u, v ∈ C1, u (= v}
B = {d(u, v) |u, v ∈ C2, u (= v}

���� ������� ���� �� ��~}� ��� �A ⊆ B �� �|�� C1 ⊆ C2 �������

d2 = B ≤ A = d1

�{|� ������| ���|�� �� ��{�

H =





1 0 0 1 0 1 1

0 1 0 1 1 1 0

0 0 1 0 1 1 1





�



�H �� ����{� |��� ��~}�� C ��{���� ~��� �� d �{ �|�� �{

��{ �{�}� ����{� ����� {� �{� �C �� ~�� ����� �� ��{|� ������ �{� ��~| �|
����{ �����

v1 = (0110100) v2 = (1000100) v3 = (1011100) v4 = (1010111)

������

�d ≤ 3 ���� ���{� ����� {�� H �� ����|��� ������ ������� ��~���� ���� �{
��{ �{ ��� �{ d ≥ 3 ������ ��{��� ~��| ����| ���{�� ���� 
�� ������ ���

�d = 3 ���� ����{ |��� ���~| �� ����� ��~��� �| ��{� ����{ �~��� H�|

�~�� ���� {�� v1 ���� �Hv1 = 0 |��� �|
�~�� ���� ���{ v2 ���� �(111) �~���� ����� �{ �|�� Hv2 |����� �{� �����
���� ��� �H�| ���{��� �~���� �� �� ������� ��|��| ����� ����{� �{�}��

����� ������ ~���
v2 + e6 = (1000110)

�~�� ���� {�� v3 ���� �Hv3 = 0 |���
�{�}�� �~�� ���� ���{ v4 ���� �(100) �~���� ����� �{ �|��� Hv4 |��� ���|�
~��� ���� ��� �H�| ���{��� �~���� �� �� �����{�� ��|��| ����� ����{�

����� ������
v4 + e1 = (0010111)

��������� �{��� ��������� �� ��~����{ ����� ���| f(x), g(x) ��������� }�� ��� �� ��{�
� r(x) < g(x) �� f(x) = q(x)g(x) + r(x)�� �� q(x), r(x)

�R[x] }��| f(x) = x4 + 3x3 + 3x2 + 3x+ 2, g(x) = x2 + x− 5 �{

�Z2[x] }��| f(x) = x4 + 3x3 + 3x2 + 3x+ 2, g(x) = x2 + x− 5 �|

������

��� r(x) = 7x + 32 ����� �f(x) = (x2 + 2x + 6)g(x) + (7x + 32) ��|��� �{
�q(x) = x2 + 2x+ 6

f(x) = �� �|�� �g(x) = x2 + x + 1�� f(x) = x4 + x3 + x2 + x �� ����| �|
���~��� �������� ��{� ��~��� ������ �|���� ��{�� ��� �x2 · g(x) + x

�q(x) = x2�� r(x) = x ����� �Z2 �� ���|�{�

������ Z9
2�� Z6

2�� C �������� ~�� g(x) ��� ��~}� �g(x) = x3+1 ∈ Z2[x] ��� �� ��{�
�
n = 9�� k = 6 �m = 3 �{�

������ ~�� {�� C �{� ������ �{ ������ �{

�C�| ~�� ����� x = (101011) ������ �{ �~~�� �|

�C �� ~�� ���� {�� ��{|� ������ ��|� �� ��~| �}

v1 = (101011110) v2 = (000101101) v3 = (110010110)

������

�



����� ���{| �xn − 1 �{ ���� x3 + 1 ��� ������ ~�� �� ��� �{

x9 − 1 = (x3 + 1)(x6 + x3 + 1)

������ ~�� {�� C�� ���{ �� �{���� �� ���� ����

�{ ������ xm�| ���{ ����� �f(x) = x5+x3+x+1 �������� ��{�� x ������ �|
�����| ������ ��� �g(x)�| �����| ���{��

f(x) · x3 = x8 + x6 + x4 + x3 = (x5 + x3 + x2 + x)g(x) + (x2 + x)

f(x) · x3 − (x2 + x) = x8 + x6 + x4 + x3 + x2 + x

�(101011110) {�� ����|�� ~��� ���� ����

�����| �|���� ���� ��~��� ����| ���|��� ~��� ���� {�� v1 �� |� ���� �}
�g(x)�| ������ �x5 + x3 + x2 + 1 �������� ���{�� v2 �����

x5 + x3 + x2 + 1 = (x2 + 1)g(x)

�g(x)�| ����� ���{� �������� ���{�� v3 ����� ��{� ����� �~�� ���� �� ����

x8 + x7 + x4 + x2 + x = (x5 + x4 + x2)g(x) + x

�~�� ���� ���{ v3 ����

������|

�


